— 0] : : :
2 009 -+ veeei e SRR RRIE e
PP I DN S S
0.07F - +eeeedeneneneens oo e
0.06F -+ ferivesmeneeees e e
0.05 e T RRIE e
0.04 : :
0.03
0.02
0.01

Efficiency vs P,
o T

ermcie

o 0 NPT ......! L inn
S S o

10 . Gedf’

MKEIT_T1base
mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mKkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0

........................................

.................................

1.2

Ratio

iy

(48 i B AR AR L AL

0.8
0.6

Efficiency vs ¢

0.0158HH{-H 4+ f. I
0.005fF -+ fhde -+ oL L |
OFbue LtL | L, |
2 T i
-1 0 1 2 3




	Contents
	Page 1


